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10 cents per kWh is $330,000.
I I * Oxgen Enrichment can decrease
the energy demand and cost of this
operation by as much as 80%.
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Oxygen is generated as a by-product from hydrogen production
via water electrolysis.
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purchase of electricity, steam, heat, or cooling from a utility provider.

Blending the by-product O, from electrolysis can reduce the air
demand for WWTPs, save energy and cost, and lower
scope 2 emissions.

* As per ERCOT data, 813.6 |b or 369 kg of CO, is produced per MW-hr of electricity

Consider a 10 MGD WWTP with 3 blowers of 150 hp each, Carbon Reduction vs. Oxygen Enrichment
delivering a combined airflow rate of 6534 scfm.
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